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Cel: AHAsSHA 2el(sSHAREL2ACIANESESIA) (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
EXt= R 1,971,120 1,347,384 623,736
= 72,000
Al 1,899,120
& - s3HA 29 1,971,120 1,347,384 623,736
== 72,000
Al 1,899,120
AASTEI 2el(sSEHAELEU2ALAIEEESIA) 1,971,120 1,347,384 623,736
< 72,000
Al 1,899,120
AHSSEX DR & 29 727,972 1,323,572 595,600
201 er23 | 36,932 190,532 A153,600
01 At2teltl 20,700 42,300 A21,600
Ot el 29 +=34|
475,000 128 5,700
OUHE Moliss=+ Sl SX=
5,000,000 *37H 2= 15,000
02 3224l 16,232 148,232 132,000
OLHAHA S32= 16,232,000 * 14| 16,232
202 04l 5,040 5,040
01 =LHA LI 5,040 5,040
OMHSSEHA 280
420,000« 12& 5,040
307 @20l & 64,000 714,000 A\650,000
05 git?(& = 64,000 714,000 650,000
OLEHA SS0ISAME 23
16,000,000 *40H 2 64,000
401 AlEHIZL SO 622,000 414,000 208,000
01 Al&HI 622,000 414,000 208,000
OLH =3 JIBAIE |FXE=
42,000,000 #8IH 2 336,000
OS2 ertH ] -]
50,000,000 *14] 50,000
ORFESULLAATHT] THHAY A=
e AL 162,000,000 * 14! 162,000
Ot =sSEX AIE=2 AEHEA
74,000,000 *14] 74,000
s3HA 2018 =78l N2 144,000 0 144,000
S 72,000
Al 72,000
301 EetE NS 144,000 0 144,000
== 72,000
Al 72,000
4 JIE2 8= 144,000 0 144,000
Os3HAl g=J1g =574l X
144,000,000 *14] 144,000
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CHel A= RO BRl(SREXFLUBIALSESH) (crol: @ 2)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
< 72,000
Al 72,000
SSH==HM2AE 22 1,032,000 1,032,000
201 er2 3| 152,000 152,000
01 AtR2te|Hl 20,000 20,000
OBBHAHIAL +TWS HEAMN 242
20,000,000 *14] 20,000
02 s3=gHl 132,000 0 132,000
OZTHAHIAL £ KX 2
44,000,000 *3JH £ 132,000
307 glztol & 760,000 760,000
05 DiZkelera 760,000 760,000
OIIYTAl SBHEHIAL 22IThe
760,000,000 * 14 760,000
401 Al HIZ S OHHI 120,000 120,000
01 A28l 120,000 120,000
OS3H+HMeIAE FA2+
40,000,000 *3JH 2 120,000
OiIH1H] 67,148 23,812 43,336
801 OflHIH 67,148 23,812 43,336
01 EHolbIgl 67,148 23,812 43,336
Ooullblbl 67,148,000 * 14| 67,148




